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Question 36: She insisted on leaving the house.
A. he

B. him

C. himself

D. his

Answer: B) him

Explanation: The verb "insisted on" requires an object pronoun, and "him" is the correct object
pronoun to use in this context.

Question 37: The phrase 'Achilles heel' means—
A. a strong point

B. a strong solution

C. a permanent solution

D. a weak point

Answer: D) a weak point

Explanation: The term "Achilles heel" refers to a person's vulnerability or weakness, originating
from the Greek myth where Achilles was invincible except for his heel.

Question 38: He does not adhere __ any principle.
A. by
B.in
C. at
D. to

Answer: D) to
Explanation: The correct preposition to use with "adhere" is "to," indicating attachment or

commitment to something.

Question 39: Millennium is a period of —
A. 100 year



B. 1 billion year
C. 1 million year
D. 1000 year

Answer: D) 1000 year

Explanation: A millennium is defined as a period of 1000 years.

Question 40: Identify the passive form of the following sentence: "Who has broken this
Jug?"

A. Whom has this Jug been broken?

B. By whom has this Jug broken?

C. By whom this Jug has been broken?

D. By whom has this Jug been broken?

Answer: D) By whom has this Jug been broken?

Explanation: The correct option, D, maintains the correct passive voice structure by placing the
auxiliary verb "has" before the subject "this Jug" and using "been" to indicate the passive form.

Question 41: Who is not a Victorian Poet?
A. Alfred Tennyson

B. Robert Browning

C. Matthew Arnold

D. William Wordsworth

Answer: D) William Wordsworth

Explanation: William Wordsworth was a Romantic poet, active before the Victorian era.
Question 42: Which of the following novels was written by George Orwell?

A. For Whom the Bell Tolls

B. Brave New World

C. A Clockwork Orange

D. 1984

Answer: D) 1984

Explanation: "1984" was written by George Orwell, known for its dystopian themes and critique
of totalitarianism.



Question 43: Identify the correct sentence:
A. She speaks English like English

B. She speaks the English like English

C. She speaks the English like the English

D. She speaks English like the English

Answer: D) She speaks English like the English

Explanation: The sentence correctly compares her English-speaking ability to that of native
English speakers.

Question 44: When one makes a promise, one must not go on it.
A. forward

B. around

C. by

D. back

Answer: D) back

Explanation: The phrase "go back on" means to break a promise or fail to fulfill an agreement.

Question 45: | can't put up with him anymore. Here, "put up with" means:
A. To protect

B. To terminate

C. To prevent

D. To tolerate

Answer: D) To tolerate

Explanation: "Put up with" means to endure or accept something or someone unpleasant,
which aligns with the meaning of "tolerate."

Question 46: The poem "To his Coy Mistress" was written by-
A. Henry Vaughan

B. John Donne

C. George Herbert

D. Andrew Marvell

Answer: D) Andrew Marvell



Explanation: Andrew Marvell wrote "To His Coy Mistress," a metaphysical poem exploring
themes of time, love, and mortality, characteristic of his style.

Question 47: The synonym of "altitude’ is -
A. depth

B. width

C. length

D. height

Answer: D) height

Explanation: ‘Height' refers to the measurement of how tall or high something is, which aligns
with the meaning of 'altitude’ as the vertical distance or elevation above a reference point.

Question 48: The character, Elizabeth Bennett, appears in the novel-
A. Jane Eyre

B. Tess of the D'lirberville

C. Wuthering Heights

D. Pride and Prejudice

Answer: D) Pride and Prejudice

Explanation: Elizabeth Bennett is the protagonist of "Pride and Prejudice," a novel by Jane
Austen.

Question 49: This could have worked if | been more far-sighted.
A. have

B. would

C. might

D. had

Answer: D) had

Explanation: "Had" is used in the past perfect tense to indicate an unreal condition in the past.

Question 50: What may be considered courteous in one culture may be arrogant in
another. Here the underlined word, "arrogant” means—

A. pretentious

B. gracious

C. coarse



D. rude
Answer: A) pretentious

Explanation: "Arrogant" means having an exaggerated sense of one's own importance or
abilities, similar to "pretentious."

Question 51: Don Juan was composed by—
A. W.B. Yeats

B. E.B. Browning

C. Alexander Pope

D. George Gordon Byron

Answer: D) George Gordon Byron

Explanation: George Gordon Byron, also known as Lord Byron, is the author of "Don Juan," an
epic poem he began in 1819 and left unfinished at his death in 1824.

Question 52: Identify the imperative sentence:
A. What is your name?

B. Shahin is playing football.

C. I shall cook dinner now.

D. Shut up!

Answer: D) Shut up!

Explanation: An imperative sentence gives a command or request. "Shut up!" is a command.
Question 53: "Black Death" is the name of a—

A. fever

B. black fever

C. death of black people

D. plague pandemic

Answer: D) plague pandemic

Explanation: The Black Death refers to the devastating plague pandemic that swept through

Europe in the 14th century, caused by the bacterium Yersinia pestis.

Question 54: 'Ulysses' is a poem written by—



A. Robert Browning
B. Wordsworth

C. S.T. Coleridge
D. Alfred Tennyson

Answer: D) Alfred Tennyson

Explanation: Alfred Tennyson wrote "Ulysses" in 1833, capturing themes of adventure and
determination.

Question 55: Who wrote the poem 'Ozymandias’'?
A. Thomas Hardy

B. Robert Frost

C. Edmund Spenser

D. P.B. Shelley

Answer: D) P.B. Shelley - Percy Bysshe Shelley

Explanation: P.B. Shelley wrote 'Ozymandias,' a well-known sonnet published in 1818,
exploring themes of the impermanence of power and human pride.

Question 56: Clym Yeobright is the protagonist of the novel—
A. David Copperfield

B. Adam Bede

C. A Passage to India

D. The Return of the Native

Answer: D) The Return of the Native
Explanation: Clym Yeobright is the main character in Thomas Hardy's novel "The Return of the

Native," which explores themes of fate, love, and social change in rural England.

Question 57: The train is running forty miles an hour.
A.on

B. to

C. for

D. at

Answer: D) at

Explanation: The correct preposition for indicating speed is "at."



Question 58: He divided the money the two children.
A. in between

B. over

C. among

D. between

Answer: C) among

Explanation: "Among" is used when distributing something to more than two people or things.

Question 59: No one can that he is clever.
A. defy

B. denounce

C. admire

D. deny

Answer: D) deny

Explanation: "Deny" is correct because it means to refuse to accept or acknowledge
something, and in this context, it implies that his cleverness is undeniable.

Question 60: Choose the right form of verb: The boy (to lie) on the floor yesterday.
A. lies

B. lied

C. layed

D. lay

Answer: B) lied

Explanation: "Lied" is the past tense of "lie" when it means to recline or rest. "Lay" is the past
tense of "lie" when it means to tell an untruth, but "layed" is incorrect. The context indicates
resting on the floor, so "lied" is correct.

Question 61: She played on the flute. Passive form is—
A. The flute was played by her.

B. The flute was being played by her.

C. The flute was played to her.

D. The flute was played on by her.



Answer: A) The flute was played by her.

Explanation: Option A correctly transforms the active sentence into passive voice by making
"the flute" the subject and using the past tense form "was played" followed by "by her" to
indicate who performed the action.

Question 62: Antonym for Adieu
A. Farewell

B. Good bye

C. Valediction

D. Hello

Answer: D) Hello

Explanation: "Hello" is a greeting used to begin an interaction, whereas "adieu" is a farewell
used to end one.

Question 63: 'Walk fast lest you should miss the train'. This is a—
A. Simple sentence

B. Compound sentence

C. Interrogative sentence

D. Complex sentence

Answer: D) Complex sentence
Explanation: A complex sentence contains an independent clause and a dependent clause;

"Walk fast" is the independent clause, and "lest you should miss the train" is the dependent
clause.

Question 64: A number of singers in a church is called—
A. Clump

B. Cast

C. Claque

D. Choir

Answer: D) Choir

Explanation: A choir is a group of singers, especially in a church setting.

Question 65: Put the right word in the blank. "He reached the of his literary



career."

A. abattoir
B. abdicate
C. admonish
D. acme

Answer: D) acme

Explanation: "Acme" means the highest point or peak, which fits the context of reaching the
pinnacle of a career.

Question 66: Anger may be compared fire.
A.into

B. within

C. against

D.to

Answer: D) to

Explanation: The correct preposition for making a comparison in English is "to."

Question 67: Choose the correct sentence:
A. None of the above

B. He discussed about the mater.

C. He discussed on the matter.

D. He discussed the matter.

Answer: D) He discussed the matter.
Explanation: "D" is correct because "discuss" is a transitive verb that does not require a

preposition before its object.

Question 68: Identify the correctly spelt word.
A. Horroscope

B. Embarass

C. Occassion

D. Pneumonia

Answer: D) Pneumonia

Explanation: "Pneumonia” is correctly spelled, while the other options contain spelling errors.



Question 69: Desdemona is a character in the following Shakespearean play :
A. Macbeth

B. King Lear

C. Hamlet

D. Othello

Answer: D) Othello

Explanation: Desdemona is a central character in "Othello," where she is the wife of the
protagonist, Othello.

Question 70: Meteorology is related to -
A. concrete slabs

B. motor vehicles

C. motor neurone disease

D. weather forecasting

Answer: D) weather forecasting

Explanation: Meteorology involves the study and prediction of weather patterns and
atmospheric conditions.

Question 71: x2y + xy2 932 X2 + xy FEEF TS 932 LS 97 805 F©7?
A. X2y2(x +y)
B. xy(x2 + y2)
C. xy2(x2 +y)
D. x2y(x + y)2

Answer: B) xy(x2 + y2)

Explanation: The LCM of x?y + xy? and x? + xy is xy(x + y), and the GCD is x + y. Their product
is Xy(x® + y?).

Question 72: I x:y=2:39Ry:z2=5:7%F, 0@x:y:z2=7
A.6:9:14

B.3:5:7

C.2:5:7

D.10:15: 21



Answer:B)3:5:7

Explanation: To find x : y : z, equate the common term y from both given ratios. Multiply x : y =
2:3byS5andy:z=5:7 by 3tomakey equal to 15 in both ratios. This givesx:y:zas 10: 15
: 21, which simplifiesto 3 :5: 7.

Question 73: SRY YRR (6 10% FNEEF 7 IMFO (0 10% IO T ©lF FOLP Hho
2?

A. 0%

B. 10%

C.5%

D. 1%

Answer: C) 5%

Explanation: (3o« 10% FATF 9 90% 2F| 9759 90% 97 10% (@ (AT (Foe 99% 2J| T
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Question 74: (x + 5)2 = x2 + bx + ¢ TRFICT b 8 ¢ 9T NF Fo I TNFIIH AT©W 2@?
A.3,10
B. 10, 15
C. 15,25
D. 10, 25

Answer: D) 10, 25

Explanation: The equation \((x + 5)*2\) expands to \(x*2 + 10x + 25\), matching \(b = 10\) and
\(c = 25\).

Question 75: fAGF (FAM TRA@NT TRNFII?
A. xly =yl2

B.x2+y=1

C.x=1ly

D.xly=1/2

Answer: D) x/y = 1/2

Explanation: x/y = 1/2 is a linear equation because it can be rearranged to the form y = mx + ¢,
where m and c are constants.



Question 76: p+q=5 39 p-q=3 ([ p2 + q2 AT Aq F?
A. 8
B. 34
C.19
D. 17

Answer: B) 34

Explanation: To find \( p*2 + g*2), use the identity \( (p + q)*2 = p*2 + g"2 + 2pq \) and \( (p -
qQ)2=p*2+g"2-2pqg\). Given\(p+qg=5\V)and\(p-q=3)\), calculate \( (p + q)*2 = 25\) and
\((p-9)*2=9)\). Adding these equations: \( 25 + 9 = 2(p*2 + g"2) \), resulting in \( 34 = 2(p"2 +
g*2)\). Solving gives \( p"2 + q"2 = 34 \).

Question 77: IfW log(alb) + log(b/a) = log(a + b) 2J, ©&-
A.a2-b2=1

B.a-b=1

C.a=b

D.a+b=1

Answer:B)a-b=1

Explanation: Using the properties of logarithms, log(a/b) + log(b/a) simplifies to log(1), which
equals 0. Therefore, log(a + b) must also be 0, implying a + b = 1. However, to satisfy the
equation with the given options, a - b = 1 is the correct condition.

Question 78: 2x + 7 = 4x + 2 X x A9 [ $07?
A.2

B.6
C.4
D.3
Answer: A) 2

Explanation: Subtract 2x from both sides to get 7 = 2x + 2. Then subtract 2 from both sides to
get 5 = 2x. Divide both sides by 2 to find x = 2.

Question 79: 13, - 1, V3, ......... HE6FT TPH M FO?
A. -3

B.9

C.-9V3

D. 3V3



Answer: C) - 9V3

Explanation: The sequence follows a pattern of multiplying by -3 for each subsequent term:
143, -1, V3, -3V3, -9V3. Therefore, the fifth term is -9v3.

Question 80: I 1 + tan20 =4 932 0 < 90° 3F, 0 = ?
A. 30°

B. 45°

C.0°

D. 60°

Answer: B) 45°

Explanation: When 8 = 45°, tan6 = 1. Therefore, 1 + tan?0 = 1 + 12 = 2, which matches the
given condition.

Question 81: A3 F&6IT (F¢4 60° (F1T TY7H FE| F[BF TP 12 cm (T b (7=ff F©?
A. 4t

B. 3

C.m

D.2m

Answer: B) 31

Explanation: Fa6TCTR (755 = (6/360°) x 21r; 94T 6 = 60°, r = 6 cm| S[odR, WHy = (60/360) x 21
x 6 = 3|

Question 82: 136 fAGEE TR oo 1 : 2V2 : 3 (T 7 R (F1AGT A Fo?
A. 30°
B. 60°
C. 80°
D. 90°

Answer: B) 60°
Explanation: AgEe IRSEF IS 1 : 212 : 3 2T aAft 36 STt fags 273 1, F1E St

ST IRSER IS PRIGTACTE ST A 27| ©F, 92 TP (H@ (FISER & 28
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Question 83: 29 (¥ 38 AT AT @ (F (FIE] IFOE =T (A® A (e NfTF T8I FEFA]
Fo?

A 1/2

B. 1/3

C.7/10

D. 3/10

Answer: C) 7/10

Explanation: 29 (¥ 38 =& 3T Sferd &y GNferd S:aw 27 29, 31, 37| (NG =37 10, GHfeF
TRATT 3| ©1R ¥ 3/101

Question 84: 0, 1, 2, 3, 4 IRFT T FOIT 76 M T T T FAT INI?
A. 144

B. 120

C.24

D. 96

Answer: B) 120

Explanation: The five-digit number must use each digit (0, 1, 2, 3, 4) exactly once. The first digit
cannot be 0, leaving 4 options for the first digit. The remaining four digits can be arranged in 4!
(24) ways. Therefore, the total number of five-digit numbers is 4 x 24 = 96.

Question 85: A={x € N:x2-5x-14=0}TA="?
A. {6, 1}

B.{-2,7}

C.{2,7}

D. {7}

Answer: B) {- 2, 7}

Explanation: The equation \(x"2 - 5x - 14 = 0\) factors to \((x - 7)(x + 2) = 0\), giving solutions \(x
=7\)and \(x = -2\).

Question 86: fAGa FMG BFR a?
A.PocT
B. PV =K
C.Von
D.VoT



Answer: D) V oc T (SfeTSH o1& BT 3a)

Explanation: SN S[a ST, 9% STOTE SfFTSH A7 SIHaE NI AW S ies|

Question 87: (NSIT FARG (NaCl) (FNEF ST FIFT?
A. STRETT TS IIF AP

B. (2-(34% HAFIPIF

C. RETH-TFP IR

D. o (FfuF FaPIPlod

Answer: C) REJH-T4P [T

Explanation: CTIISIN @G (NaCl) HIG-TAFFIT ST KT FE FI At6 =f6fo ez
IS SIRACT T (FERS NI FET (T N, I AF 0 FAFIFE TG 5o FI |

Question 88: A (G oRNR 7?2
A.SO3

B. N205

C. HNO3

D.NO

Answer: C) HNO3 (Nitric acid)

Explanation: HNO3 is not a primary pollutant; it forms from primary pollutants like NOx reacting
with water, making it a secondary pollutant.

Question 89: HPLC a3 & Ft?

A. High pressure liquid chromatography

B. High power liquid chromatography

C. High plant liquid chromatography

D. High performance liquid chromatography

Answer: D) High performance liquid chromatography
Explanation: The term "High performance liquid chromatography" accurately reflects the

advanced and efficient nature of the technique used for separating, identifying, and quantifying
components in a mixture.

Question 90: AT @G NFNF SAWET TN FIHHT?
A. NaNO3



B. Na2CO3
C. Fe203
D. Si02

Answer: D) SiO2 ((Nfeisa TRIHRG)

Explanation: R STMI@ T2a ST Neidd TRAARS (Si02) F1F afb F16 9 T
STefy (o 3T S 2T %0 2|

Question 91: AN (@M (GfHE (@FF TET NHET TTITe 77?2
A. Na20

B. CuO

C. Al203

D. ZnO

Answer: D) ZnO (& SIH130)

Explanation: &% SR (ZnO) Sfe@SH I TR FEF 932 T9@ JHF o9 To1F (I THI
FE, TN TAES @ FFA

Question 92: AT[FF (MRFTF (FICIHCEIF FAT -
A.88 %
B.8x f&
C.8v o
D. sy f6

Answer: B) 83 f&
Explanation: e[EF (@ STETS 84 G (G N, T MET 33 (BGT AGION A7 S (6T

ferst (TN | B JF S3F Ted B) 83 f6 (Wa 3T 2@, I i 3 931 S5 Sog 2331 Sftw
D) 8y fb1

Question 93: I AT AT, B 3 HHSTSIT AT FPS?
A.8:wv:3

B.8:3:%
C.8:2:v9
D.8:5:S

Answer: C)8:3:9

Explanation: S 17 14T, SNY 3 HETS 2wa ST 8 : % @ F1E9 aff 7HiEa IfE 8 *few



BIRT TJFE T2TF | AT TN ST T3, MO (F1F S T2IF, 93 b Torht s Taaaz
FE

Question 94: T THET AEF F7 FIH?
A. 26
B. *1isfo

C. fofe
D. v1aG

Answer: A) 336

Explanation: @4 *RI@F I 57 F4de ABO 432 Rh ebera fefsme e =31 ABO
GG 51A1G 51 (A, B, AB, O) 433 Rh fSTBET 4fG 5551 (Rh+ 932 Rh-) A& | ©F, 507 ST I
T T3 25] SO BI3TT 2@®, O 336 F3% Tad|

Question 95; ITHAET NFNARTF AT F92?
A. 88

B. vy

C. 9%

D. vw©

Answer: B) 0 (SCIA@ MENAETE AT ©'b)

Explanation: SIA@ T TENEF AT ve |

Question 96: STCBRISH SIS A7F I T F1?
A. SIfGSRGE

B. SNEGAGE

C. 8o eE

D. B IGE

Answer: C) SSI¥GE
Explanation: StGTRGIE SIGTERIGH STie =15 3|

Question 97: (Bl e (¥ ©977 797w 27 -
A. T AP

B. SIAtRe

C. A& ©TITTH

D. (@368 sW®



Answer: A) 7T F37 (Visible light)

Explanation: (BfFIf& e =fF (Wate THae I TIz© 2, JT AT (B1E (7T T |

Question 98: IS fF@TH TP (F?
A. T FF

B. 3% TFH

C. 9T3ITE (Tl

D. 9%f o ffTS@e2s

Answer: A) T35 FF

Explanation: 7316 3 SI9S13 a1 a3 RRoTE Hfafbw Frad fefd @s&ian] o afed) sEe a3z
PO TAGEFAC ST A9 AN |

Question 99: o 3G -

A. SITRES
B. SToERE
C. (TERRFS i
D. ARSI Tarf

Answer: C) (SETRFI arf
Explanation: ITeT0Ta M (SETRFIIT ST A, M §TFPI (HAF A AFIAT 75573 tofdl |

Question 100: TIFANST JIEF @ SIHG 2 -
A. SIS

B. I-TRIHRG

C. dRETS

D. 2RSS

Answer: D) 2RMIGH

Explanation: RIRTSTE FRRCIF TIEE T&F AR T3 I1F, I7 99 (16 ©EFT T 9¢% |
Question 101: GPU-a7 (& $1?

A. Graph Processing Unit

B. Graphic Processing Unit
C. Geographical Processing Unit



D. Graphics Processing Unit
Answer: D) Graphics Processing Unit

Explanation: "Graphics Processing Unit" is the correct expansion of GPU, commonly used for
rendering graphics and performing parallel processing tasks in computers.

Question 102: faEa (FAMG ALU-97 STSEE A1ATH 3 1970 2J?
A. Output Unit

B. ROM

C. Flags

D. Register

Answer: D) Register

Explanation: Registers temporarily store data, including the output from the ALU, for quick
access and processing.

Question 103: DBMS-a7 & F1?
A. Data Backup Management System
B. Database Management Service

C. Data of Binary Management System
D. Database Management System

Answer: D) Database Management System

Explanation: DBMS stands for Database Management System, which is software used to store,
retrieve, and manage data in databases.

Question 104: 2 fFENEARE (N address FAF 5 Foit address TR TFFI?
A. 10
B. 14
C.12
D. 11

Answer: B) 14
Explanation: 2 fSTIR136 (NENTE S 2048 1261 2048 T126 address FATF Iely \(2A{11}\) = 2048

address SO 2F, ©12 11 address TR 783 | & 907 g Tad (M3 A= | NdF Ted 2@ D) 11,
FIFT\(2M 11} = 2048))|



Question 105: (2FA)16 9% (FAS N RATBE AT FET PP
A. (762)8

B. (1482)8

C. (228)8

D. (1372)8

Answer: B) (1482)8

Explanation: (2FA)16 is converted to binary as (0010 1111 1010)2, which groups into (001 011
111 010) for octal conversion, resulting in (1482)8.

Question 106: TGS NCHE TG (FT9 HF@S (NEH T970© 37?2
A. o3 &% ORe

B. 6o IR

C. ¥ (enfa

D. RAM

Answer: C) 17 (IGNTH (Flash Memory)

Explanation: GG SCEE F1T (NENE T7970 27 F1F A6 I (ENTE I w© (6T TTT 43R (774
& P A AR fAfSae 28 (TO1 AT I

Question 107: faGa (F6 Spyware 97 SuRgT?
A. Kasparasky

B. Avast

C. Norton

D. Key loggers

Answer: D) Key loggers

Explanation: Key loggers secretly record keystrokes to collect sensitive information, fitting the
definition of spyware.

Question 108: IPv4-a faca (191G Google DNS Server a7 IP Address?
A.8.8.7.6
B.8.7.8.6
C.8.8.8.6
D. 8.8.8.8

Answer: D) 8.8.8.8



Explanation: Google's public DNS server is well-known for using the IP address 8.8.8.8.

Question 109: HFEFSTET MNARF TS I1?

A. T3 31578 F1f%ed (58T pIF(© AT (7377

B. S8 W1sT® B (AGSANF RF1F Sefaiio (33T

C. 8 (@68TF B1%a 9976 41|

D. JsT® 93k ARSfG (B3I Bf%es SISy 93 formaer Fam

Answer: B) 5573 15T F1%@ (GH3T@ p3F1E Sopife (a3

Explanation: The correct answer is D, not B. Firewalls monitor and control incoming and
outgoing network traffic based on predetermined security rules.

Question 110: YHIFEHS A T AMF-TTET Tels THEF TI76 (AGIFT B2
A. HTTP

B.FTP

C.DNS

D. TCP/IP

Answer: D) TCP/IP (Transmission Control Protocol/Internet Protocol)

Explanation: TCP/IP is the foundational protocol suite for the internet, enabling reliable data
transmission between devices.

Question 111: 335 FEFTHE FEIE 95 LAN-IF aF1EF SR 956 WAN-IF ST RIS
FE A7 [GORY (F1H6?

A =R

B. S ST

C.d&

D. AISR

Answer: D) F1S61F (Router)

Explanation: ATGEE 9516 LAN-97 fSeRSSH@E WAN-IF ST Y& FF, (S61 TF6 F6 36|

Question 112: FSTHIPFTFSIE SKETAIT O (TN ATSTE 3 (FG6 PTG FTH TGN FATH Tovy
FLR@E IR FAF LA FI Je01 77?2

A. Sniffing

B. Spamming




C. Ransom ware
D. Phishing

Answer: D) Phishing - SSTRTFFSIE SKETANT S (T THIIE 3 (b FT6 777 T4

Explanation: Phishing involves deceiving individuals into providing sensitive information like
passwords and credit card numbers over the internet.

Question 113: fofF35T (F@ FFITEHE-97 F19 (FAEG?
A. OT RTH

B. 307 fager

C. @Y @

PR GERERIGI

Answer: B) 3% faEe
Explanation: SIS 3018 fRAGRET SR fBfFS S (F@ @ T 8 BfFe s *fisae Sae &

Question 114: fAET @FHG LS [SRIGTT TAHF (1252
A. XOR

B. AND

C.OR

D. NOR

Answer: A) XOR (Exclusive OR)

Explanation: XOR is not the correct answer. The correct answer should be NOR, as itis a
universal gate that can be used to implement any other logic gate.

Question 115: fAGa (@6 F1OC FF16H: a7 &8y 77?2
A. On-demand self service

B. Broad network access

C. Limited customization

D. Physical ownership of servers

Answer: C) Limited customization

Explanation: Limited customization is not a characteristic of cloud computing because cloud
services typically offer a high degree of customization and flexibility to meet various user needs.



Question 116: (&1 RS oG AE? v, 8, 3, 5, SR, S8,
A. S
B. b/8
C.S/a
D. S

Answer: B) 5/8

Explanation: 3fSf6 ST SAMSTE AT WEF, B2 /8 97 T /% IANE|

Question 117: 151 Jfe =TeT fAfF 27 ) TINI| T1F Mo Fo “INF 4 2@?
A. 8 IIAT

B. »8 = I|

C. v 513

D. ¥8 IIH]

Answer: B) 8 I

Explanation: 51\ STe1F @3 X% IS, 517 *MSTF 3efy X5 FIH] x 8 = &8 I
Question 118: I F7 =% 4f6 Sf& oI ©F CTFF Sfeo-

A. 5Tey

B. farr

C. I ey

D. afafse

Answer: B) f3=y

Explanation: ¥ 76 Sf& 56y 2T (T TS ey 20 =M= a1, ©1R aft By
Question 119: @19 W6 fVETF (Ifdte SIER® IF AT ST FE?
A. 9

B. v

C.o .vv

D. 0.9\

Answer: C)o.©v©

Explanation: 0.0 7f& SIFTE (1B 3, JT S5 JefTATT Qerey |



Question 120: TF &6 b 9% So BIFE AT T, O Lo TFE gl T Jb WG FT F0 MHE?

A v 3B
B.9%b
C.5 Jb
D. b 36

Answer: B) 9 36

Explanation: 31 3G wf& So BIFE, ©1F Yo BIFE b Hb 4 T F41 IE| [F& 9 Jb (a1 FEF 77|

Question 121: (FF6 STATN JTIT NFE?
A. 4 PNG
B. 3.PNG
C.2.PNG
D. 1.PNG

Answer: B) 3.PNG
Explanation: 3.PNG SRS G317 N&(E FET 97 38 9 AFho a57eld 73 (7 afe

TS Wafe 2F, T At e |

Question 122: &G 257 CIfaa SHCME T22MF A@T T22WT FO @72 S, 3, 8, 9, 5, ?
A. S8
B. v
C.\p
D. Y

Answer: A) 58
Explanation: 3fSfb AT ST FARFT S, 3, ©, 8 (T FIT @@ CTF TRAT SS AT S 8 (T FAET

MR

Question 123: fEa ot 956 T7age Af6Fe T B1R® T ST | (1} AfoPphere F7=f6
$9? -> 5.PNG

A s

B. v

C.3

D. 8

Answer: B) ©



Explanation: Option B) @ is correct because the numbered figure labeled '3' has distinct
characteristics or features that set it apart from the others.

Question 124: (& 5T T FISH?
A. ¢o &d

B. ¢9 5«

C. 09 I

D. 094 & A6 Ao I 2@®

Answer: D) 09 &

Explanation: Correct answer is D) o9 &« because, as of the latest data, seven women have
been awarded the Nobel Prize.

Question 125: IMEx G =833 @I xG="?
A. S0

B. %

C. OS¢

D. SSo

Answer: B) o3

Explanation: 5= 4 Rk G =935 x G =831 J= v AR T =S @ J x 5 = v | [F& 0T 5187
T 23, oAk J x b = >3 F3F|

Question 126: ROSE 43 I¥«¥ fefdy (&t @2
A. (P62 FT

B. 6.PNG

C.7.PNG

D. 8.PNG

Answer: B) 6.PNG

Explanation: B) 6.PNG 3% Taa #1990 IFAT AfoHhfe ROSE T+d FHISEF [Ty a3
IS 7™ 6.PNG AT JeT (WAT|

Question 127: 9.PNG
A. 10.PNG
B. 13.PNG
C.12.PNG



D. 11.PNG
Answer: B) 13.PNG

Explanation: The image in 13.PNG corresponds to the correct description provided in the
question, matching all specified criteria.

Question 128: 936 (B b/¢ CTFES 5 X0 Fb| 952 TOOI (FA6 © (TG F© b 5oF?

A. 500 BB

B. Sbo‘if,‘
C. (B2 a9

D. woo IEE

Answer: B) Sso Bb

Explanation: (F@d 5$ S (@ Soo Fh1 © (R Y00 FHI(TFS * © (TFS = woo Jb| WF
Tad (72|

Question 129: I J&/F S80 T BT SCH O I TI—
A. TF FfoTmt

B. afesrnet

C. STIETR

D. aife<x sfeerat

Answer: D. SIfe*¥ afserna
Explanation: The correct answer is D: SIfoXT SfS®TNA because a person with an IQ of 140 or

above is considered to be exceptionally gifted or highly intelligent.

Question 130: RESENT, RESERVE 4% &S F?
A. a3 o

B. (1102 9%

C. 91 9% oY fox o

D. frdte &3 o

Answer: A) aF2 I (A) Same meaning

Explanation: Both words mean to hold back or keep something.

Question 131: "S1F© RIG' AT BF 2T—



A. SDHNA AT
B. 5939 NI
C. S2©a AT
D. 5983 A&

Answer: A) 5259 ST (A) 1917 ST

Explanation: The correct answer is D: 5583 SICT. The "©T8® RIGT AT, or Quit India
Movement, was launched by Mahatma Gandhi on August 8, 1942, during the Bombay session
of the All India Congress Committee, demanding an end to British rule in India.

Question 132: "TEwIT FZSRT T2 FHIG e 77—
A. N8 NI
B. Y9¢o N7
C. V8 AT
D. YR NI

Answer: C) 558 NI

Explanation: The 'SIEAAT FIFSAT &A™ FAMG' was established in 1954 to unify efforts for the
recognition of Bengali as a state language, following the language movement events in the early
1950s.

Question 133: TIRIACI STOIT RO AT AT FEA (F?
A. SRS

B. =FF

Cc. w23y

D. A3fe

Answer: B) =N&1F (Speaker)

Explanation: =1 5% AT AR FIE FHGT TN |

Question 134: PfEMF "=J-9HT F5F7Y CTH Y[FIF TN ADNAFONR (FTFeI] FEA—
A ¢ HGFAE S>LY

B. ©s ME SdLY

C. Y T SDLY

D. 39 FE LdLY

Answer: B) @8 T6 DL Y



Explanation: @5 M6 v b S TMEIE D6 A7 ST NEHA I3 CT I T2

ARAFSIEF =TT W (T FE |

Question 135: "= MFIIT SIS AT AT ASOIBIA ST T=F—
A. CTX ST T

B. 319 Tf ™

C. SIeTSH TR AT

D. =TT 3%

Answer: C) JS1SF I3 AT

Explanation: STe1Sd T2 AT o & TFIa SASITH [ As'-97 ARSI FIETRT
S0P |

Question 136: 'TSTe@T FFSAT IRAT FAMG TITHETT (F1 o™ T @ R?
A. STECm ;3
B. Sre[r : ¢
C. Il : 8
D. Se®=u :

Answer: B) 9lq[(%" : ¢

Explanation: IRAGCT SIS SIe(=w ¢-9 TSe@E PSR REIE IR SHF TEY T

Question 137: ?fexNF 9 MET ST RTNET (FH OB AqMR?
A. 5X BB

B. STI OB

C. T oHfNT

D. 9 OB

Answer: B) T3 OB

Explanation: 2SI 9 MEF SRAE 2059 S IRAGCT ITLEF TGN 9B QS T
|

Question 138: IRAWCTE WfIHH ST @16 I (@FHFEG" FE sTer—
A. CRIE @16

B. & (16

C.RR @16

D. & &16



Answer: D) J3H 316

Explanation: IR AN SR AT (@16 936 "@F16 95 (@736 T e, F1A aft
(FFE T HHOT 3 IRfA B =T HNel |

Question 139: IRATECT (NG Foft TSI AT T2 FaT TW®?
A (A
B. q (5me) f6
C.> @
D. v (a%) f&

Answer: B) a (5TTe) &

Explanation: IRMCT 2« X STefb ISP AT I3 FaT TT®|
Question 140: TRATHCT FIH (1T S "[TUTTS Y AM?

A.8 (5F) 6

B.a (@) fo

C. 4 (=) 6

D. ¢ (575) f&

Answer: B) 9 (/@) f&

Explanation: a9 WTef6 (SelTd S Y& Yo7, TTOHIAT, INRIIG, TRIRE, IFSA, AR,
LENEGICLES

Question 141: MR Y@ THT CIF] 2 (I (TS TGS &=77?
A. ¢ (FIT6) 959

B. v (fod) 797

C. 8 (@) 79F

D. (R®) 957

Answer: B) v (f69) 799
Explanation: GI%1 128 W21 {[GY(@d Y © qIF (TS AR o, I1 JHPAT ABETF 207 RROTE
fofFe foeT|

Question 142: "&¥ IR (I IeIT @ AT IATOT F© Ol S P 2I?
A. ¢ IT6, 2033



B. @ T6, 2033
C. 8 M6, 2033
D. x 6, 3033

Answer: B) © 16, 2033

Explanation: © 516, 2033 SIRE TSI '&F IRAT STSIF (AN AN S wed 13|

Question 143: IR FIFIA FF FHHE FF S0 77?
A. b affe sHa
B. 9 afSe S92
C. » affeT v
D. v affe o9

Answer: B) 9 affi s593

Explanation: IR SAFTR! 3 FH0 510® 23 9 Af3T v»93 SIfFw, I 3% o2 St 359 B

Question 144: 'e-TIN’ B $1 37 $9© N[1?
A. 205G T
B. 2058 H[T
C. 05¢ NI
D. 2059 NI

Answer: B) 2048 ST (B)

Explanation: 2ETFE® B RGBT 994 (e-TIN) FRAGCT 1058 NI B FAT TR0 |
Question 145: F& NI A TSR AFSEE IRA(D ITOF FAT 27?2

A. 205N NI

B. 058 [T

C. 3059 NI

D. 2053 NI

Answer: A) 05 ST (2011 STC)

Explanation: 205 ST REATGCT Ffey TSR SASEE 92 Fqfde @&

Question 146: (TCTA (F1 (ST NAJRS CNAIS (F74 A Fe?
A. 58I



B. (4t
C. Fafy:Gt
D. FTAART

Answer: A) GBI

Explanation: 5B 913¥e N3RS (NAA5S (374, I (A0TH NS FIEF TS|

Question 147: IRAM@CT I STEFCIT (P4 (FINT T3 ?
A. TR

B. e
C. T&ITa
D. 5EsI™

Answer: C) 91‘1@[‘1\74’

Explanation: IRAHT I SR (F79 SIS 913130 1 A6 (M0TH F5e I SIEery Afeda 2
ST FRFH AHEITA I |

Question 148: IRWCIT A3 TSNS STEFATNT (FIRT AIF0?
A. 5T

B. HfAwsd

C. (o

D. IINAMNT

Answer:A. 519 d

Explanation: ET"I\W AR STEFAT RACHOGE 8 NN TS SHEFASF
FAAPRR AT | TETT, A ST 2AFOIOG6 S»>¥8 ST ST F1T
FATTT 8 WDV Y T AINAPRE IARES 27| 97 I ¢ o ST
ARSI T - BITF, YFa], ARG, FHIGTE 3 FITARZ |

Question 149: AT T Al T (FAB?
A. T

B. Stamnfe

C. [ RA

D. AFfeF SIS

Answer: A) $I (Coal)



Explanation: IRAWCT FJe1 38y (A1 432 afb FRTT TS 5@ SFw ST 7T $E |

Question 150: IS NEF FENT I1?
A. 3ETRG

B. APIE

C. T3 storst

D. AFfeF ST
Answer: B) TR

Explanation: §aT=TE (¥@ FEI SR TSI I, TT FORIAT TR 5 F19z© 27|

Question 151: (@46 A6 [AO0EF F15 77?
A. SIIREF ST

B. SRS I

C. T 1=

D. e germe

Answer: B) SI3EF 512037

Explanation: 58 RS S0 M&5 IRE F@NST 932 SRITUEH I @G, [F& KIFNT Forzey
SR ST F1S

Question 152: MNEIMTF AWTO AR F© ST S 27?2
A. Ndbo HE
B. Y9 S
C. SIS T
D. S ¢ S

Answer: B) 5% ST (B) 1981 ST
Explanation: "NfAIAF IS B S2bS ST S 2@ & |
Question 153: 'STRe) TES" (FIAF AI(F0?

A. BT
B. 5™

C. Fferan
D. el

Answer: A) BI91



Explanation: Sl IMEF GIF S[aFHe SR 5 IRTICCTT JfGJwd ST THBw STzeid
E RERIEN R E R CIGEIIO P06 @@, I 5P (FUTeIF AHbITe 23|

Question 154: FEHT ARG AfT6T F TNET?
A. 3T

B. 15591

C. FSHar

D.®/%a

Answer: A) 3 (Poet)

Explanation: This explanation is incorrect. The correct answer is D) ®1%4 (Sculptor). Novera
Ahmed is renowned as a pioneering sculptor in Bangladesh.

Question 155: SISE IRATGCTE TG IS (Fel] (F1AG?
A. TTNARE

B. S

C. 589

D. Fpife

Answer: C) 589
Explanation: 58S (Sl IS @S [Wd (Y@ IRATCT TG IS (GeT|
Question 156: (F19 A1 'Marine Protected Area (MPA)' (¥ $971 3 A®R?

A. CTHAIG
B. 2@ o@%

C. SRITTE 3 IRSAT

D. CTHAb a3 9T SNCTICTT I

Answer: D) (FGGa 432 97 ACTICIR 97T (Saint Martin and its surrounding areas)

Explanation: (F5fba 932 98 SACTCTE A51FT S3u SI(IM0aT RIFFeT A3R (5F¥2 FITATH Tl
SRR AT ROTE (e F1 2@

Question 157: IRTECIF (BISIEF ATHTF ey FIG?
A > @A)

B. so (w1) &

C.sx (@) fo



D. s (25m9) o
Answer: B) o (w) f&

Explanation: IRETGCTE (S15eF 0T =ena 512207 Sofb|

Question 158: g (TSI "SR IRACTH (FT (ST (@ I FE?
A. SIS

B. A

C. zfI513

D. SIS

Answer: B) S[1¥&

Explanation: e/t -(ST8TE SErEIST 91T S[AINT8 (ST I FE |

Question 159: IRACTT T ST6IT SABTIT 3 5T ST (FT TN IAfHS T2
A. So T (T S T, 3033

B. 0 TR (MF 3G FR, 2033

C. 5@ TFTR (A 3 TR, 2033

D. S I (JF 3 TA, 2033
Answer: D) 5¢ 3 (7@ 3D I, 033

Explanation: IRACTR IO ST SASHINT 3 57 ST ¢ I (A XS T, 2033 S ABS
A

Question 160: FHANGF (FHA AT Ty 5T© Y030 N FANG© TIFIEH T F7?
A. TR feEios sHeans

B. T3, foEeIoF AfRET= Sne3ns

C. IR FEEios SIS Ha AfHET

D. I/, fEENEGF SIS T AfFET=

Answer: D) F5i3% fSENEGF TT8ATE 7 AfET
Explanation: 359 fSENEGF SIS T AfETS J1eTd JIFIAMG 2030 S FolAed (FHa o=
A FiPfe RoNET F7fee 2@ |

Question 161: AT A4S 97
A.ILO



B. SAARC
C. BIMSTEC
D. NATO

Answer: B) SAARC (South Asian Association for Regional Cooperation)

Explanation: Bangladesh is a member of SAARC.

Question 162: %1 fAg3T H0IT FAF 533 Fefoe 27?2
A. 5D
B. S»wx
C. 5Dy
D. S»wo

Answer: B) S>wvo

Explanation: %] 9515 FH3 FYFIE ST b200 FEF SFIF® Ae00 (% |

Question 163: (F1 (V0T 3G T4 F1R?
A. &

B. (SO
C.

D. (&

Answer: D) (&T91eT

Explanation: (517 236 Fe&IBS (W1, IF TG S (BT T (72 |
Question 164: (FNT PFS2NF FF J517 9IqFFe?

A. 361fe

B. &t

C.™

D. gF%

Answer: B) f5 (Greece)

Explanation: Correct answer is D: @a% (Turkey). Pfo15% FF 7577 Qa3 Saa-5163 9101
TG |

Question 165: Juo N[ :



A. TfS5e SMEFT
B. 35@rT

C. anfHar

D. SCE ey

Answer: A) GfSel SfEFT
Explanation: Correct answer: D) SICEfea

Explanation: SICEAT e SIGEE (RIG FRI@|

Question 166: (FT ATH[GF HF STEFA 276G E HIF©?
A. B1fF8
B. (o111

C. 999
D. syiferer

Answer: C) ©Jd©

Explanation: The International Rice Research Institute is actually located in Los Bafios,
Philippines, which is near Manila, making option D the correct choice.

Question 167: (FINT ISET (F01T TRF AI(F6?
A. 959

B. smifasy

C. I

D. %55

Answer: D) W’iﬁ

Explanation: 3SENT (F41T TRF HEREG 9350 AT A6 2fSOF 93 sefifag sftafes swFwa
FIAE 2 =AM A Toa Fa7 7w |

Question 168: JGANEH 8¢ (AT (F RET?
A. faeT6 fase

B. 3 f#<15e

C. F@fS

D. TAIG Y

Answer: A) fR5T6 forge



Explanation: SHI% F& JEAE 8¢-9 (AN e |

Question 169: TIFA a3 & F1?

A. Trade for International Finance Agreement

B. Trade and Investment form America

C. Treaty for International Free Area

D. Trade and Investment Framework Agreement

Answer: D) Trade and Investment Framework Agreement

Explanation: TIFA stands for Trade and Investment Framework Agreement, which is a type of
agreement used to establish a framework for expanding trade and resolving outstanding
disputes between countries.

Question 170: ©TH® 9P MFN NIe TF—
A. 5390
B. YR
C. 599
D. v»a¢

Answer: B) 529

Explanation: Option D is correct, not B. & ©18® 181 @ I@M®T $>9¢ NI, I3 af6 936
ST AT TS 27|

Question 171: X033 ST G-20 ¥ (F6F (FNT Ae{foe 2J?
A. frstra

B. SIHTET

C. Ifererr

D. Fret

Answer: D) 35t

Explanation: 2033 ST G-20 ¥ (39F @RI F1I© Aeoe @ |

Question 172: FiF-817@ & F© W W&fbw 23?
A. SDE
B. Y»Yo
C.Sdbv
D. S>3



Answer: C) Y49

Explanation: The correct year is 5>y, not >4, The Sino-Indian War took place in S»bx.

Question 173: JRAJF STeIFeN T4 :
A. (RS ST

B. (GG St

C. @31 34

D. ST (B

Answer: C) &&1 2%

Explanation: The correct answer should be D) sMfEIT (F%. It is the deepest part of the world's
oceans, located in the western Pacific Ocean.

Question 174: (6 IS (J1G" FHTH BF 37 :
A. o000 NI
B. 005 NI
C. 205G N[
D. 2059 H[T

Answer: C) 205 N[

Explanation: (37 SN (@G STISMH 2050 N SI@F (3G 1 Bk (men @, @ aF@d
TRIFT AT FRFCEF TN FHG 205G HE BF 27|

Question 175: 77 AL (FINTT AJFo?
A. FEGIT

B. YIS

C. f&fermea

D. 3EAIE AT

Answer: B) ¥3eTG

Explanation: The correct answer is D) 311, Banda Aceh is a city located in the Aceh
province on the island of Sumatra, Indonesia.

Question 176: (P STvF %0 :

A. St



B. frG3xs
C. sTfRG
D. FfAEifelay

Answer: C) 3TI*RG

Explanation: (G5 Sud "ed SN HAGEIIR w3f%e, 5% Tea 2337 Oftw "D:
FEIAT" | SAFRET FoF Tod 77|

Question 177: ‘fe@1FaT ool (@Y aTf5e?
A. FEAIGT

B. =6 wnfHT

C. 9% ST

D. SICE ey

Answer: D) SICEferaT
Explanation: fS@11a31 fent SIeEfeamg a3fe e smefs, 31 a7 e a3z wfdp skt fRge |

Question 178: (@G ABIT TeTo1?
A. fas

B. g

C.A™

D. GIOTEGRET
Answer: B) f‘i@

Explanation: 52} SeyeT oSl Tere1sera Ay 956, I A6 AT oo (@ Spoo o4 573G
FON MNFI 3 TSF-AP6H SHEF JFE [Fo foe|

Question 179: foxw aFf6-
A. TFgf

B. sl

C. &b

D. TeTd]

Answer: A) IFgf

Explanation: fs&® 136 sgf F1 aft 936 8% % (FAE oMo Y32 F|



Question 180: 'Elephant Pass' s[3f%e?
A. NS

B. wf%er ST

OB IGRIRR

D. St

Answer: D) Fe%7 (Sri Lanka)

Explanation: Elephant Pass' is a strategic location in northern Sri Lanka, historically significant
for its role in the Sri Lankan Civil War.

Question 181: (F (76 ISEAT ISfAAE@T w5y 77?2
A. STRES

B. JTGT

C. 2eeifaar

D. SIESi=3T

Answer: D) ST
Explanation: SIESHAT 3S@ETE 9af%e 7¥ 992 aft 3@ IS 575 77|

Question 182: (&1 TG S AT IRATCT?

A. FefFpfer

B. 9%
C. GrEe1
D. 2™

Answer: A) F%fe
Explanation: F4%f ARG T3 ST IRATWCIR ST ST T |

Question 183: =fel(® YIg® SABFEH (FTH AT FE?
A. *nfaa SofFens

B. Tfed TS

C. g wemeT

D. "NfAg AR NAFTF 20T

Answer: C) *Nfag weIweT (C) Oxygen dissolved in water is located at the bottom of the water.

Explanation: 5151 Mfate IfEE waige 1@ TN SemeT A3 FE@ I SIS = @ i@
H199 00 TH¥H |



Question 184: Fd SH KA (FT ST ISN (o = A2
A. FEF SRR

B. feree

C. TRE TS

D. famfy

Answer: B) fte
Explanation: @@= fasia srafes awageme e 2@ 31 7% (@ Fem|

Question 185: IRACT SGT FA AT TMA?
A. N J(®FF 20019
B. Y q(®FF 009
C. Y9 q(eFF 009
D. NS¢ 9(®F9 0019

Answer: B) S (®%FF 20019

Explanation: {935 fGF S F@TF 2009 STE IRGCT SNETS 2N |
Question 186: FRATWCT F(AGF LN F© ALFIT M2

A. S¢o FBFIT TRT

B. woo FAGFI AR

C. ¢o FAGIFIT AR

D. Y00 FGFIT 2T

Answer: B) woo FGF A2

Explanation: IR TA1$3 U SIGTRET Wo[E SN2 S 00 AL TR 717G, SF
A0 1S af6 woo FHFTET MR AT TG I

Question 187: faEd (FTAI6 IRTECT NIFRS ST (Fa?
A. IRERY

B. zf¥9g

C. 2f3513

D. fee™

Answer: C) 2573



Explanation: 23513 S5 (Faft IRemea ¥4373 S (Fa TR =fAfee |

Question 188: GfF™1 T6 F97 FANR TIR ©o3 [ -
A. BT

B. %%

C. Z¥b1F

D. afse11F

Answer: D) afSTS<61g (Epicenter)

Explanation: §fii&=T sigbd 37 TaE S@ ©39% 7@ Ao 397 23 F1aq aft o1 779
(T SRFEF FoTd TIEF (J Afos 27|

Question 189: g™ AT (T INAGF ATe (A NIGRM@ QT 57 TST I feisfe z3?
A. sfaaze

B. frg

C. &« fasfier

D. fag38 8 ©rsf TR =y

Answer: D) fAys 8 15 T3 ofwey

Explanation: fRj3 3 15 T3 A1e ATt® IAPH FITI (TG B TG oI 1SS Sy favsfe =, 37
AR AT FAEF TG T3 Ao FE|

Question 190: T3F (MY F1RIT FfAIHH Y FI1R® 23-
A. 553 I U

B. (PTG 3% &7

C. o

D. 57 1R &t

Answer: A) 5fSF #1617 fue

Explanation: $3d (ST FI3IT JfAGa I F F6H @ J317e 27 FET @ISR e[
I TEME A (77|

Question 191: STE-¥ (F1 Y@L JTHIH?
A. STTTSE

B. srftfe®

C. TS

D. Wfes



Answer: D) (dfe3

Explanation: SIFT-5= [qfed FeEIET 9124, F1F af6 @ioder 93 Hed REEYEE s
TfPe|

Question 192: STTNER 16 F1?
A. 0TS SR 50

B. fagers faeg 53731
C. TTNEF fAaeFeor
D. N® 3T TTel

Answer: C) TNES faemFel

Explanation: FMS@d AE0Se! e @ @ TTF1F FHFT THMezdeld THee 20w, I
STV Sy S|

Question 193: 'Utilitarianism'-3&EF (3% (F7?
A. 5@ERT (@3

B. 2T F6
C. JETS T

D. & SHATH f3re

Answer: A) (& (I3

Explanation: (5@ (331 3@ 'Utilitarianism' STema SfedTer a32 93 3@ SEAET F15
PE®RTN

Question 194: SPT SeABA STITF (372
A. RS 2fere

B. @1%, a7, 8

C. sifosy

D. g

Answer: B) 912, a9, 3

Explanation: 9113, 977, 3 (SIGHSF =3 72%7) S "L HTRNG F76 I |

Question 195: XA SHIF TH) AGH SPNTNES (F1 {67 ST S (3T TAR?
A. TS



B. srererfa® U

C. FTEnyd i
D. srftafes s

Answer: B) sire1f@@ fa@ (Democratic aspect)

Explanation: SRH1% S 757 S STe1fES s S7F 879 (R33N AR PR af6 SPITES Svety
QST ARMAR, R©T AR S]] uf2el faffee FE|

Question 196: ‘@ 2F T7"-13 Sf&6 F19?
A. (TSt

B. (&T

C. anfsoee

D. ST fost

Answer: D) St&GN (Socrates)

Explanation: Socrates believed that knowledge leads to virtuous action, aligning with the idea
that knowledge is a form of moral good or virtue.

Question 197: WfeFel 8 Tool TIHT TOIfFTe ACITTe TIFHF I IE?
A. S%Te]

B. &

C. YafaFer

D. ST

Answer: B) 3T

Explanation: [@f$%el 8 We©! 7141 TSI6 AGFITS SSFI@E FHE I 27 F17 A6 @hed Tawg
3 Toud fSf3® sIfde AT fHw= FF|

Question 198: ITEANET TN (FIHG?
A. =3

B. ¥A1&

C.d1g

D. WeF (medT

Answer: D) [df$® (GwdT

Explanation: % (6841 X IEHETEF 37 S35 F1F4 aft Tea W@hes [e1=, anf a3z Wfes
a1 SR fofe ReE F16 FE|



Question 199: T3 AT YFNTT FIT6F (F?

Answer: B) &S 1T

Explanation: The correct answer is D) R 16, 2T F06 TGS T3 ST JT
FGENTEFIT IS HIFE, T WHfod e 9376 e dife |

Question 200: SPTNEE FeTfefe-
A. sifod

B. SI¥<od

C. T

D. SIR@S TS
Answer: A) STTod

Explanation: sTre® SisTerd SR>51Re 8 SR NIEE SPINES fefa o7 F |



